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Test Center Name Arya Institute of Engineering and Technology
Test Date 27/11/2024

Test Time 12:30 PM - 1:30 PM

Subject IALP Stage 1

IApplication Photograph

Exam Day Photograph

* Note
Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark per Question.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.
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Q.1 of2 3z RELATION & TS TR &1 2ol qUiFTel 58 § 3T a1e a1d 28] T S5d 301 910 3R Ude Fied
P ST JUIHTCT 1 ¥ UG U ardl ek T 950 391 9, AR R ST quimer w0 % s sa i
HGRYT F 01 A, & 58 UBR & HeRi % Tg o FHfiad § ¥ $H-91 245R & § 91 ®IF 1R g

Ans 1. M

2 K
5. P
4.Q
Question Type : MCQ
Question ID : 6306801214601
Option 1 ID : 6306804777623
Option 2 ID : 6306804777624
Option 3 ID : 6306804777622
Option 4 ID : 6306804777625
Status : Answered
Chosen Option : 2
Q.2
efafEa 7 9 (o gc1 § Us 319, &9 ¥ uRafad gl ofdr 87
Ans . yepe .
1. BRI (Solidification)
2. HEUITH (Sublimation)
3. &Y (Deposition)
v 4 fgd e (Fusion)
Question Type : MCQ
Question ID : 6306801219364
Option 1 1D : 6306804796863
Option 2 ID : 6306804796865
Option 3 ID : 6306804796866
Option 4 ID : 6306804796864
Status : Answered
Chosen Option : 3
Q.3 e ofR WX 1 1) &1 SURC &1 SHars HAE 8 cm 3R 15 cm €1 9 TH-gW Y 24 cm B gl R | bl
ot #1 gARAr & R te-gw U [ gr 82
Ans 130 cm
« 225 cm
3 31cm
4. 24 cm
Question Type : MCQ
Question ID : 6306801213375
Option 1 1D : 6306804772669
Option 2 ID : 6306804772668
Option 3 ID : 6306804772666
Option 4 ID : 6306804772667
Status : Not Answered
Chosen Option : --
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Q4 o SR UF TG T A0 T R 30% B e o1 ¢ | Ae I P 91 e 212,460 8, T IuDT A Ted

e
Ans 1. 317,860
2. 316,800
v 3 17,800
4. 16,760
Question Type : MCQ
Question ID : 6306801213169
Option 1 ID : 6306804771844
Option 2 ID : 6306804771843
Option 3 ID : 6306804771845
Option 4 ID : 6306804771842
Status : Answered
Chosen Option : 3
Q5 frafafaa 3 | frem, tRfeifes # afgersit 3t 10 Wew waw Igwa WiET sH1 gfen
Joft & wuf ugw Shar?
Ans 7 1 3af ERT
2. 3 At
3. tiifcr ot
4. ST SRTaTd
Question Type : MCQ
Question ID : 6306801132222
Option 1 ID : 6306804448998
Option 2 ID : 6306804449001
Option 3 ID : 6306804448999
Option 4 ID : 6306804449000
Status : Answered
Chosen Option : 2
Q.6 gfz 3rse GROUPS & Udi® R b1 3o GufATer A H SU% 91e a1 38R & g f3aT Wy 3K udis <io
I ATl GUHIE HH H IGF |G aTe ek Y Faa a1 o 2R e 2farf Bl 2l qufre &a H 2afd
T30 ST, T S9 VPR 99 1&R-UEg H FufaiEd ¥ 4 $H-91 37&R 918 3R I 1R ®F W gm?
Ans . T
2. p
3.5
4 Q
Question Type : MCQ
Question ID : 6306801214598
Option 1 ID : 6306804777612
Option 2 ID : 6306804777613
Option 3 ID : 6306804777611
Option 4 ID : 6306804777610
Status : Answered
Chosen Option : 4
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Q7 %ag?aummas TR TR, < TS e o v g (2) % =M W Fafafad o ¥ SiH-w G o

YZX, VWU, STR, PQO, MNL, ?

Ans 1K
v 2 JKI
3 KJI
4 CBA
Question Type : MCQ
Question ID : 6306801214405
Option 1 ID : 6306804776839
Option 2 ID : 6306804776841
Option 3 ID : 6306804776838
Option 4 ID : 6306804776840
Status : Answered
Chosen Option : 2
Q.8 33 gy = gy fomm Tem did S veR TeiE € o ver Fafaied gt @ e e 2
(ST & ST DI 3G I AT ¥ SHCHT-7eT U {51, qof Serell oY Highans 5t 9 aigu | 3aT. 13 -
T 13 TR TFEHATE O 13 T SS1/AeHI/AT0N S 1S 301 ol Fehal §1 13 Tl 1 AR 3 T ST -HT  H
1 372 B 1 @R 3 TR UK wfehant S & eAfd 981 2
(2,24, 6)
(4,32,2)
Ans
1. (3, 48, 4)
2. (9,80, 1)
3. (5,70, 3)
¢ 4 (6, 108, 3)
Question Type : MCQ
Question ID : 6306801214440
Option 11D : 6306804776978
Option 2 ID : 6306804776980
Option 3 ID : 6306804776979
Option 4 ID : 6306804776981
Status : Answered
Chosen Option : 4
Q.9 :FEIch quiHTen 8 F MR W, € E SEen § w E (7) F UF R FefiEd § § oF- e o
q §Q?
GHM, IJO, KLQ, MNS, OPU, ?
Ans 1. QSV
« 2. QRW
3. QSW
4 QRV
Question Type : MCQ
Question ID : 6306801214407
Option 1 ID : 6306804776849
Option 2 ID : 6306804776846
Option 3 ID : 6306804776847
Option 4 ID : 6306804776848
Status : Answered
Chosen Option : 2
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Q.10 oz gy 3f 14, BT 3ef e, ke BT 34 e, SR BT - B, A PrefeET shiem A my g v R W
T AT?
(2413)K61(1412)L19 =7
Ans 121
2.149
3. 34
4. 15
Question Type : MCQ
Question ID : 6306801214609
Option 11D : 6306804777656
Option 2 ID : 6306804777657
Option 3 ID : 6306804777655
Option 4 ID : 6306804777654
Status : Answered
Chosen Option : 1
QM 4f2 ueb yiepr1 01 Sfuactics ny' & A & srddHies 'ny' b HIs 7 $8 WebR 9T 2 XS @ 6 aua
PO AR ATEHA BT 1 8 (0 < i < 90 FERH AT GY, T /iy EZENCIE]
Ans i
« 1 smr
sin i
2.sini—sinr
3. sin i
sinr
4 sinr—sini
Question Type : MCQ
Question ID : 6306801217193
Option 1 ID : 6306804788227
Option 2 ID : 6306804788229
Option 3 ID : 6306804788228
Option 4 ID : 6306804788230
Status : Answered
Chosen Option : 3
Q.12 fmfafEd faeel d & 39 fawer o1 9g= S &t 9+ S ez o areht @1
=far 31
Ans 1. 990 U, Tfesral & fad, arft 5
2. T91 &1 sidd, YRIAT S, ST fogpe
3. BT 3! I, g & T, 33 & fFad, I & fSad
o 4. 33 & [BaD, I P Ui, 3 & fBas
Question Type : MCQ
Question ID : 6306801217281
Option 1 ID : 6306804788593
Option 2 ID : 6306804788594
Option 3 ID : 6306804788591
Option 4 ID : 6306804788592
Status : Answered
Chosen Option : 1
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Q.13 §H 2024 ¥, URET T A WIER 5 WRS S Wed! & T Wia fear, St yrRa &
T fRa gl
Ans 1 TR
2. 48hTg
3. 7% faeelt
4. SIS
Question Type : MCQ
Question ID : 6306801146051
Option 1 ID : 6306804504365
Option 2 ID : 6306804504366
Option 3 ID : 6306804504363
Option 4 ID : 6306804504364
Status : Answered
Chosen Option : 1
Q14 249 B AT B & G, Teb IXq bl T 2988 B | TR T ARAdD Hed febaiT 27
Ans @ 1.31,300
2. 31,200
3. 31,100
4. 31,400
Question Type : MCQ
Question ID : 6306801213122
Option 1 ID : 6306804771655
Option 2 ID : 6306804771656
Option 3 ID : 6306804771657
Option 4 ID : 6306804771654
Status : Answered
Chosen Option : 1
Q15 g 31! 31 98 T BICT I/ J1d B, ST 24, 40 2R 56 H I U T Yoia: e 8
Ans 11080
2. 1260
« 3. 1680
4 1170
Question Type : MCQ
Question ID : 6306801213113
Option 11D : 6306804771618
Option 2 ID : 6306804771620
Option 3 ID : 6306804771621
Option 4 ID : 6306804771619
Status : Answered
Chosen Option : 3
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Q.16 gfE =1z VERIFY & TS o &1 SISl qufnre &4 7 39S did 16 a1 3(eR U 6a &g1 oY, SR Td®
TR B AUl JUHTR HH H 3 31 Ueet It ek 9 Sad (607 91, df 59 YR & el & 8 wg

fapee =iom Oiug 8kl
S T
2. TJ[¥
M
" .
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
6306801214587
6306804777569
6306804777567
6306804777566
6306804777568
Answered

1

QA7 1, et AR 7 YR BT geT 7233 §1 9f% T HOH B 0w 31.50 B & 9 8, 3R U YR B e 31 9
I G, <1 2 el AR 3 IRyl 1 5w 248 81 91 81 2 el AR 3 Ul 1 SR 7w 91 i

Ans 1. 341
2. 346
v 348
4. 354

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

McQ
6306801213309
6306804772402
6306804772403
6306804772405
6306804772404
Not Answered
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U (18T e HIWTH,
A+BHTHI A BPHIHT,
A-BHI YA BHIHE T,

A x BPI 3 A B P Ul ¢,
A=BHId A BHIOATE,
ARA#BH A A BB
A F-E#LxQ-P#N & dl PHIFYRIdY g2
PRI N -

2 Hi & 9g

3 HIg BT g

N

Question Type : MCQ
Question ID : 6306801214372
Option 1 1D : 6306804776708
Option 2 ID : 6306804776709
Option 3 1D : 6306804776706
Option 4 ID : 6306804776707
Status : Answered
Chosen Option : 3

Q19 7 1 31 3R 2 31 A Wi T e H S € 8, A WA & W 1 e W B g
v (2/3)30H
2. 3 31?'1:[
3 (3/2)3
4. 9 31?'1:[

Question Type : MCQ
Question ID : 6306801217174
Option 1 1D : 6306804788151
Option 2 1D : 6306804788153
Option 3 ID : 6306804788152
Option 4 ID : 6306804788154
Status : Answered
Chosen Option : 2
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Q.20 5t sraaa o4 Y TN F RG] & A H, T8 UHTS &1 U TAGE (60 IRIade T0g IR HOfed 8l &

dwEddus™_ wdid el el
v T EHY R AfERa
2 dehdl g U IR
3 dehdl g W AHHHRA
4. R BI6HY Y {gRd

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
6306801217206
6306804788279
6306804788281
6306804788280
6306804788282
Answered

1

Q.21 ety ifvds & ¥ dredf gRT AR Seif &1 e wfra weor far sirar 22
Ans 1 1UfaEd

2. sufa=rd

3. 1009 fer=rd

4. 10ufaRrd

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
6306801217340
6306804788832
6306804788831
6306804788834
6306804788833
Answered

4

Q22 g s oX W @Grd ) 5 a8 7 71,300 TR YRV 41 & T T 520 B 4RI U gl

Ans 1. 4%
2. 8%

3. 5%

4. 1%

Question Type :
: 6306801213185
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID

mcaQ

6306804771906
6306804771909
6306804771907
6306804771908
Answered

2
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Q.23 gl Tem-gr 8 Teel We W $B T S HRd gud T UG @ w31 39 9w & a0
FHfoTE T T e 341 VSR Se1ia ¢, T8 TR Fafaiad sl #t e St g

(AT & TRl Wl b Tedh Sl 7 SferT-2a i o, guf wRemait oy Tfthang &t et @ifte) Igmsor &
ToY 13 — <A 13 UR Hihand oY {5 13 S A1/ S 1S fbaT ST gl 21 13 H1 1 8IR 3
S-S F bl SR Y 1 3R 3 IR R Wi S 3 oAk 76l )

(6,37)
(8, 65)
Ans 1. (9, 82)
2. (7,49)
3. (3, 27)
4. (5, 24)
Question Type : MCQ
Question ID : 6306801214659
Option 1 ID : 6306804777856
Option 2 ID : 6306804777855
Option 3 ID : 6306804777857
Option 4 ID : 6306804777854
Status : Answered
Chosen Option : 1
Q.24 _ _
o x:y=7:3F A x-y):(x+y)=7?
Ans 1.1 5
2. 512
3 21§
4511
Question Type : MCQ
Question ID : 6306801213198
Option 1 ID : 6306804771961
Option 2 ID : 6306804771958
Option 3 ID : 6306804771959
Option 4 ID : 6306804771960
Status : Answered
Chosen Option : 3
Q.25 it quinTar s & SR Uy, FRfaREd TR sier-wigl 1 ¥ diF Us Mild TR 9 90F ¢ 3R 39 SR U6
THE 91 & | HH-1 &R-THE 39 THE U UeTd el 82
(ST & 2SR HER-IE, HeR-GHg H o/ 1 I8 41 316 ®I IR H11Ra 6l §1)
Ans 1 CGK
2. LOT
3. (3JO
4. SVA
Question Type : MCQ
Question ID : 6306801214379
Option 1 ID : 6306804776734
Option 2 ID : 6306804776735
Option 3 ID : 6306804776737
Option 4 ID : 6306804776736
Status : Answered
Chosen Option : 1
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Q.26 fifi firg v & TOmT A T § 3R I HT 3R 10 km Tl 81 TR 98 Q1 3R TS & 31X 29 km T 2,
a1 R G50l & 2R 34 km T g1 b 98 <75 SR G501 & 1R 13 km el 31 T8 HfoH IR TS R G501 8
R 24 k T € 4R 6 2 W ol 81 g v R a1 Uga & 1w 39 et R a (gHan o) o fa
o wEt =t wfgur <9 9 Ry A e o, i die Saa oo Bl 9

A v q6km T BT 3R
2 14km FWR B[ 3R
3. 24km EI&0T &1 3R
4. 19km Jd &I 3R

Question Type : MCQ
Question ID : 6306801214346
Option 1 1D : 6306804776602
Option 2 1D : 6306804776603
Option 3 ID : 6306804776605
Option 4 ID : 6306804776604
Status : Answered
Chosen Option : 1

Q.27 gy 3y o1 9gH S o 3 T o 2gERor sl 2, o Ued o aigerur 19 fQu 7w &) =4 gr fobar wirn 2
ST g T Yo T 2R B €

LG-MH-OP

HC-ID-KL

Ans 1. |D-JE-LN
2. KF-LG-NP

3. QJ-PK-RT
& 4 JE-KF-MN

Question Type : MCQ
Question ID : 6306801214665
Option 1 1D : 6306804777880
Option 2 ID : 6306804777878
Option 3 ID : 6306804777879
Option 4 ID : 6306804777881
Status : Answered
Chosen Option : 4

Q.28 g fAemedl ¥ A 39 W &I 9u S ol Fufeiad gaar 3 uy fig (2) & ®H o 3 Yad! 81

45 95 245 695 7

Ans 1. 2075
2. 2125

3. 1995

4. 2045

Question Type : MCQ
Question ID : 6306801214649
Option 11D : 6306804777814
Option 2 ID : 6306804777815
Option 3 ID : 6306804777817
Option 4 ID : 6306804777816
Status : Answered
Chosen Option : 4




"A'I"AVI‘VA"I 0] ” O“’Iti O bsa! e lrt ] i n
Q29 57 @i 51 U Ufad . 21T 910 BR Y 128 WH R 1 S0 B8R Y IS »H H1 22
Ans 1. 24
2. 26
3. 16

4. 27

Question Type : MCQ
Question ID : 6306801214395
Option 11D : 6306804776799
Option 2 1D : 6306804776800
Option 3 1D : 6306804776798
Option 4 ID : 6306804776801
Status : Answered
Chosen Option : 2

Q.30 fAgfrfEa A | HF-a1 AshY, Wad A agal (SDG) & I fAsRT Td a1et |
wryfarsit 1 e B F e 32

Ans 1. fi’M aREM (Mission Vardan)
o 2. TR 9T (Mission Vatsalya)
3. =M TREM (Mission Surksha)
4. feyzr ey (Mission Arpan)

Question Type : MCQ
Question ID : 630680901879
Option 11D : 6306803533203
Option 2 ID : 6306803533204
Option 3 ID : 6306803533201
Option 4 ID : 6306803533202
Status : Not Answered
Chosen Option : --

" Frpfefea 43 P E 2 S99 IR AT

Ans 1 g
11

3
w2 —
4

1

3. —
2

5

4. _
6

Question Type : MCQ
Question ID : 6306801213093
Option 1 1D : 6306804771541
Option 2 ID : 6306804771539
Option 3 1D : 6306804771538
Option 4 ID : 6306804771540
Status : Answered
Chosen Option : 2
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Q.32 LPvavaﬁuqaimﬁﬁéﬁTﬁah?ﬁaﬁ&h@a@aﬂ%%% R, VP &% als AR asl 8l R &b
I ARG A R AR z S da § oo dH AfHT T6 81 v eiR P S g A Saa dH G 85 81X, v &
B o1E AR FaI 2| vy U oA R LRy S S B fem afmds &7

1. U

2. g
.;,ps.a
4'f‘ﬁ:f

Ans

Question Type : MCQ
Question ID : 6306801214469
Option 1 ID : 6306804777094
Option 2 ID : 6306804777097
Option 3 ID : 6306804777095
Option 4 ID : 6306804777096
Status : Answered
Chosen Option : 3
Q.33 o5 Hifsgn getbe, 3NTH FARES 91 SiftifEar S & i Fefeied § § g Iarg &1 FEi g g
Ans
1. BaSO4 31X 2NaCl (aq) I Ul 3/day
2. BaSO4 AR 2NaCl (aq) BT DIa &Y
3. BaSOy4 3R 2NaCl (aq) BT HIT (A&
v 4 BaSO4 3R 2NaCl (aq) T 4 3fday
Question Type : MCQ
Question ID : 6306801219416
Option 1 ID : 6306804797072
Option 2 ID : 6306804797073
Option 3 ID : 6306804797074
Option 4 ID : 6306804797071
Status : Answered
Chosen Option : 4
Q.34 i qufnme 1 & SMUR TR KGFL, 0JHM B T FEd whR 9 wafid 21 33t R, ASNP. EVPQ ¥ Tefig
B 9HF T FT R0 Hd 5U, MBTS Fofaiad 7 ¥ {59 fowe ¥ g 82
Ans 1. QEVT
2. QEXS
3. QEVW
4 QFVT
Question Type : MCQ
Question ID : 6306801214456
Option 1 ID : 6306804777042
Option 2 ID : 6306804777044
Option 3 ID : 6306804777045
Option 4 ID : 6306804777043
Status : Answered
Chosen Option : 1
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Q.35 gt o mﬁﬁzouﬁﬁ%ﬁq%?aaﬁaﬁﬂ-mmm%mw%?
Ans 1. YRA G
o 2. T A
3. T faymo
4. U1 40T
Question Type : MCQ
Question ID : 630680743134
Option 1 ID : 6306802912841
Option 2 ID : 6306802912844
Option 3 ID : 6306802912842
Option 4 ID : 6306802912843
Status : Not Answered
Chosen Option : --
Q.36 Qfﬁﬁ@ﬂﬁ Wﬁﬂf{, 'big small average’ &1 22 33 55 ferar o tj‘;f, ‘small treat party’aﬁ '55 44 77" Tera@n A
%, IR ‘party average people’ 177 22 99 forar wirar §1 3t DC T 7 ‘people’ aﬁaﬁmm?
Ans g1 99
2. §§
3. 77
4. 22
Question Type : MCQ
Question ID : 6306801214604
Option 11D : 6306804777635
Option 2 ID : 6306804777637
Option 31D : 6306804777634
Option 4 ID : 6306804777636
Status : Answered
Chosen Option : 1
Q.37 g gferaad! 5@t 91 10 km/h €, 8 km/h &1 910 3§ HFTRE T IR &1 U1 Sl ¢ | 918 R gl 9
100 m 3T &, T GRS 51 IR i uee H {1 a9 @
Ans
12 fie
o 3. 3 'Iil:'f
4 6 e
Question Type : MCQ
Question ID : 6306801213214
Option 1 1D : 6306804772022
Option 2 ID : 6306804772025
Option 3 ID : 6306804772023
Option 4 ID : 6306804772024
Status : Answered
Chosen Option : 4
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Q.38 PI-UT $5 MRT YN STAH-Ad YR AT&RaT %Mﬂhwmﬁqmwm
(full functional literacy) UTt&d Y qTeT UgT IsT 912
Ans 1, 9SG
2. ggad!
o 3. g
4. &g
Question Type : MCQ
Question ID : 6306801146003
Option 1 1D : 6306804504184
Option 2 ID : 6306804504183
Option 3 ID : 6306804504185
Option 4 ID : 6306804504186
Status : Not Answered
Chosen Option : --
Q.39 o o # 2 SR ERH 5 WiIg Fm MU A i 2 & ol ¥1 9fe o1 SR R A AW 2 e R Wy dr A L o
BT 21 ot 3 &R 7R 2fm b S eI SieR 1 87
Ans & 1.2
2.4
53
4.1
Question Type : MCQ
Question ID : 6306801213291
Option 11D : 6306804772331
Option 2 1D : 6306804772333
Option 3 ID : 6306804772332
Option 4 ID : 6306804772330
Status : Answered
Chosen Option : 3
Q.40 Which instrument can be used to give the direction of magnetic field lines at any given point?
Ans o 1.
2. Generator
3. Solenoid
4. Electric motor
Question Type : MCQ
Question ID : 6306801217222
Option 1 1D : 6306804788343
Option 2 ID : 6306804788346
Option 3 ID : 6306804788344
Option 4 ID : 6306804788345
Status : Answered
Chosen Option : 1
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Q.41 11 3R, 2024 B @1 g3 Wiw Riz @ e s R Z?
Ans 1. YRd & THATE IGT (Unsung Warriors of India)
o 2. URd & 75 HEM HilddR (75 Great Revolutionaries of India)
3. HRIg wifd & fewr (Legends of Indian Revolution)

4. YRAT TaTd1 & S (Heroes of Indian Freedom)

Question Type : MCQ
Question ID : 6306801140326
Option 1 1D : 6306804481358
Option 2 ID : 6306804481356
Option 3 ID : 6306804481359
Option 4 ID : 6306804481357
Status : Not Answered
Chosen Option : --
Q.42 Wﬁ'@ﬂ@ Wﬁ 'know me Better' &I 'jf bu pd’ ﬁl@TGﬂﬁT% 3 'better Know something’
@1 'bu jf Is' [T ST € 1 3 e HINT # 'something' I By [eRgT STwT?
Ans :
1. _]f
2. bu
3. pd
4 s
Question Type : MCQ
Question ID : 6306801214498
Option 1 1D : 6306804777211
Option 2 1D : 6306804777210
Option 3 ID : 6306804777213
Option 4 ID : 6306804777212
Status : Answered
Chosen Option : 4
Q.43 APQR & ch: FHGHTO® £Q 3R 2R, s W fAeld §1 Ul 2P =75° §, 1 2QSR BT AH fba 1 87
Ans @ 1.127.5°
2. 105.5°
3102.5°
4.112.5°
Question Type : MCQ
Question ID : 6306801213356
Option 1 1D : 6306804772590
Option 2 ID : 6306804772592
Option 3 ID : 6306804772593
Option 4 ID : 6306804772591
Status : Answered
Chosen Option : 1
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“ PofaRed o 9 SF-gr ek @b &Fﬁésﬁa?maﬁaefrﬁm%?

Ans Lt

1. W
v 2 gig g
3. sgﬁv‘ﬁ
. qﬁ'g:\frﬁ:[

Question Type : MCQ
Question ID : 6306801217331
Option 11D : 6306804788795
Option 2 ID : 6306804788797
Option 3 1D : 6306804788796
Option 4 ID : 6306804788798
Status : Not Answered
Chosen Option : --
Q.45
LRI TR
Ans 1. 1664
2 1764
3. 1564
41504
Question Type : MCQ
Question ID : 6306801213090
Option 1 1D : 6306804771527
Option 2 ID : 6306804771526
Option 3 1D : 6306804771528
Option 4 ID : 6306804771529
Status : Answered
Chosen Option : 2
Q.46 T faeT # 250 g UF A 25 g BIR FRGS T4 ¢ | FGea- & god ufawd & g | faeree & digar
BT g Hifg|
Ans 1. 27.01%
2. 36.01%
« 3.9.09%
4. 18.01%
Question Type : MCQ
Question ID : 6306801214984
Option 1 1D : 6306804779250
Option 2 ID : 6306804779253
Option 3 ID : 6306804779252
Option 4 ID : 6306804779251
Status : Not Answered

Chosen Option :
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SV RIICAT T el 1

Q.47 @ﬁ—s’iﬂ frga 3 fapeft i 2rafi & forg urfies 3 2T i 3 % SricR wrer R f2ar o Ihar g, o
[

A g T IiaEE |
2 UHHM I 9 oA 8

3. 3RTHM @R Y TAHH &
v 4. UHYHM @RI Y M 8l

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

Chosen Option

mcaQ

6306801217212
6306804788303
6306804788304
6306804788306

: 6306804788305
Status :
12

Answered

Q.48

Ans 1. 17
2 14

3. 15

416

RU T TR 3, 6 8, 10, 12, 14, 18, 24 3R 31 BT THIR HIEH 4T 82

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

12

Chosen Option

McQ
6306801213249
6306804772162
6306804772165
6306804772164
6306804772163
Answered

9 R 7§ $19-91 BT U SR &1 51 HES 27
Ans 1 Iﬁe_\r
> e
o 3. G{I\f’[

4.er|ﬁ

Question Type :
Question ID :

Option 1 ID

Option 3 ID

Status

mcaQ
6306801217216

: 6306804788320
Option 21D :

6306804788319

: 6306804788321
Option 4 ID :

6306804788322

: Answered
Chosen Option :

3
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V LWV RN ATV T Wil T

Q.50 7 fw U et 3R Fem @ eTegd e UiT STOw A € T T Y SuE e € 91E § SEe: I aet
T o wid 21 &1 3R Fiem a3 € o eF-aya - e aife w0 U f&u 10 S /@yt & 2OR /2

HUT:

i i, A g
FS TS, T
faep:

(1) Tt v, HRf
I & A9, HRATE|

A Faw e () ST F SAR B
2 A By (1) SR AT (1) BYAl &b AR B
v 5 $Had 5By (1) BT & TR 5
+ fIsBY (1) SR (11) ST HYAl &b TR

Option 2 ID

Option 4 ID

Question Type :
Question ID :
Option 11D :

McQ
6306801214535
6306804777358

: 6306804777360
Option 31D :
: 6306804777361

Status :
Chosen Option :

6306804777359

Answered
3

Q.51 YR a1g |1 (IAF) DY gHS! HATIAT § ST H URT A1 & 916 10 T
2024 B HRd W 3MMS |

Ans 1.3 TN
o 2. IR (K
3. 7%

4. DIy gfga

Question Type
Option 1 ID

Option 3 ID

:McQ
Question ID :
: 6306804498929
Option 21D :

6306801144689

6306804498927

: 6306804498926
Option 4 ID :
Status :

Chosen Option :

6306804498928
Not Answered
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Q.52 fqyeIds 5dd (meristematic tissue) BT HIRIHTT i T B g dfea s
e PI AHUE BT g |

Ans

Option 1 ID

Option 3 ID

Status

Question Type :
Question ID :

mcaQ
6306801217294

1 6306804788645
Option 211D :

6306804788646

: 6306804788643
Option 4 ID :

6306804788644

: Not Answered
Chosen Option :

53 fpfaia | Q oo difie 1 Sua GisT-3m e | fa o 82
Ans 1 @%—qﬂ ﬁ?l

2. HIeRIgH RINSS

3. fa¥eres qul

4 gifsgd FEHe

Option 3 ID

Status

Question Type :
Question ID :
Option 11D :
Option 21D :

mcaQ

6306801219384
6306804796944
6306804796946

: 6306804796945
Option 4 ID :

6306804796943

: Not Answered
Chosen Option :

Q.54 A | B o € g URAST o Gy 6y 9 1 oifgeli amdl gl 31 S quE Bl o 1| | S e 21

AnS w1 9T (catenation)

2. gAY (homologous)
3. HUIEY (allotropes)

4. Il (cyclisation)

Question Type

Option 1 ID

Option 3 ID

:McQ
Question ID :

6306801219404

: 6306804797023
Option 2 ID :

6306804797024

: 6306804797026
Option 4 ID :
Status :

Chosen Option :

6306804797025
Answered
1
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Q.55 2024 F mmmmww*ﬁmv%mﬁqmmm%

Ans 1. S ATSC Sreal
o 2. STS3ATSC TS
3. oS st et
4. SIS FTGR
Question Type : MCQ
Question ID : 6306801146116
Option 1 ID : 6306804504622
Option 2 ID : 6306804504620
Option 3 ID : 6306804504619
Option 4 ID : 6306804504621
Status : Not Answered
Chosen Option : --
Q.56 2024 TF YT AFBRI P & AR, ﬁmﬁ?ﬁuma@(csl)mﬁﬁa%mw%
9 § edd (GlobE Network) $1 aTe Tfifa # fam dew €, fored WRd @) te
Tew & =Y H g1 T 82
Ans # 1.15
2.20
3.10
4.12
Question Type : MCQ
Question ID : 6306801147031
Option 1 ID : 6306804508259
Option 2 ID : 6306804508260
Option 3 ID : 6306804508257
Option 4 ID : 6306804508258
Status : Not Answered
Chosen Option : --
Q.57 i feu u el SR frinesul &l engdes Uigu | S1ueh! A € b 3T 1Y oo W € 91 3 W 9 ol
T T UG B10 o AR M1y 1 § o SF-T/ & -9 IR difted &0 § G T SH/&31 & 78R 8/8 |
DY:
FB T, A B
P I, dSld 5|
[Eisa
() $ TS, T
(0 Tt ez, AT
Ans
. Had 5By | HUF B HTIR ©
v 2 AT By | AR T 1 HYA & AR T
3. frsm | SfR 11 &Ff YAl & SFJER §
4. Had (Y || HYAl & AR &
Question Type : MCQ
Question ID : 6306801214509
Option 1 ID : 6306804777254
Option 2 ID : 6306804777256
Option 3 ID : 6306804777257
Option 4 ID : 6306804777255
Status : Answered
Chosen Option : 2
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Q.58
i x +% = 4 %,fﬁxz+%=?

Ans 1. 18
2. 16
3 14
4. 12
Question Type : MCQ
Question ID : 6306801213275
Option 1 ID : 6306804772266
Option 2 ID : 6306804772267
Option 3 ID : 6306804772268
Option 4 ID : 6306804772269
Status : Answered
Chosen Option : 3
Q59 gt ofiR dgHr & ST TeaBy U 961 & IR A FEfeiEd # ¥ SH-91 U 9el 87
Ans 1.
S < gt U @R gl & a1 TRyl 8¢ f[Adhye 2R gHAaH gidl o
2.
S§ dgH gl U gR BT ¢ df RSNl 9 AThHYE AR AUHH eidl gl
3.
S TGHT g4t U SR 11 ¢ o TS yUl 99 [dhy e gidl o
o 4.
e d5H Gt & HIE gidl § dl Toalby Ul 9 by 3R SHfeidad gidl g
Question Type : MCQ
Question ID : 6306801217156
Option 11D : 6306804788082
Option 2 ID : 6306804788081
Option 3 ID : 6306804788080
Option 4 ID : 6306804788079
Status : Answered
Chosen Option : 4
Q60 4fe; ol 7iiel T GH1T gtha 21242 em? B, Tl 3 Tl 1 T4 10 IR e = 22 1 WA IR
Ans 114 cm
¥ 2. 26.CmM
313 cm
4. 28 cm
Question Type : MCQ
Question ID : 6306801213327
Option 1 ID : 6306804772474
Option 2 ID : 6306804772477
Option 3 ID : 6306804772475
Option 4 ID : 6306804772476
Status : Not Answered

Chosen Option :
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WAANA_ A0V
\'R'A'A'SR Al lvv \'J

SV RIICATO T W T

Q.61 g [ enes! & o, S5a® 24.6 R AL 20.1 §1 3HIED TF (empirical formula) BT TEAT 2 §Y,

AHS! BT AT I BTl |
Ans 1216
2. 241
3. 22.2
4. 235
Question Type : MCQ
Question ID : 6306801213271
Option 1 ID : 6306804772252
Option 2 ID : 6306804772253
Option 3 ID : 6306804772251
Option 4 ID : 6306804772250
Status : Answered
Chosen Option : 1
Q.62 .
T U gAR IR B! U ddlt HIfRH1 SH-U1 82
Ans 1 3'E-I-[!I
2. I PIRIHT
e ECAAIRIED]
4 g1 BB
Question Type : MCQ
Question ID : 6306801217295
Option 1 1D : 6306804788650
Option 2 ID : 6306804788648
Option 3 ID : 6306804788647
Option 4 ID : 6306804788649
Status : Not Answered

Chosen Option :
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o
»
2
®
-
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Q.63
Ans g1 A5
2. 2§
3. 15
4. 3§
Question Type : MCQ
Question ID : 6306801214566
Option 1 ID : 6306804777485
Option 2 ID : 6306804777483
Option 3 ID : 6306804777482
Option 4 ID : 6306804777484
Status : Answered
Chosen Option : 1
Q.64 fpfafad 3 9 BIF-T7 dod fAggd SUHe-T SUTg &1 SUGNT B b (bl ST 82
Ans g1 MNa
2. Pb
3. Fe
4..7n
Question Type : MCQ
Question ID : 6306801219398
Option 1 1D : 6306804797002
Option 2 ID : 6306804797001
Option 3 ID : 6306804797000
Option 4 ID : 6306804796999
Status : Answered
Chosen Option : 2




WAWAALG O\vlfi ohcalert in

Q.65 arht aoforen &0 & 1eR W, FEfiied 9R AeR-aag T 8 U o v HEd UeR 3 TE € AR S0 uER
T g S0 €| SF-1 37 39 IR § el T8

(S T 3T &R -TE, 39 HeR-Tg T orT/AaR! &1 §6 1 31d &I T ARG T8l 8 1)

Ans 1. JH-FI
2. QO-MP
3 TR-PS
« 4 NL-JL
Question Type : MCQ
Question ID : 6306801214668
Option 1 1D : 6306804777893
Option 2 ID : 6306804777891
Option 3 ID : 6306804777890
Option 4 ID : 6306804777892
Status : Answered
Chosen Option : 4
Q.66 gufqay fanfed oha §RT ST+ TRR & ST § U Sl &1 O o &1 &7HdT 1 S 87
Ans
1. Hpald
v 2 Qo
5 @sd
4 fads
Question Type : MCQ
Question ID : 6306801217336
Option 11D : 6306804788815
Option 2 ID : 6306804788818
Option 3 ID : 6306804788817
Option 4 ID : 6306804788816
Status : Answered
Chosen Option : 1
Q.67 vy oofod Uw a5 Bl 25% & A4 W ST 21 9 I 38 20% B Trd | Wi gl R 210,50 H Hed R 491 g, Al 39
30% T 1Y BT T 1 59 40 Jid I
Ans 1. F100
W 2. 50
3. %25
4. 125
Question Type : MCQ
Question ID : 6306801213161
Option 1 ID : 6306804771812
Option 2 ID : 6306804771811
Option 3 ID : 6306804771810
Option 4 ID : 6306804771813
Status : Answered
Chosen Option : 2
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Q.68 W afdd, A, B, C D, E F 3R G, TF Ufdd A ST &1 AR Q@ His 96 ¢l ETMBRY TR AR ISIEI 0 F
7% 31X S U o 93181 G, D % a1% 3R U gi¥ WH R AST 81 B, C b 31 413 AR I31 81 F, A D a5

HRTE FB1 T1 F AR £ F 519 o AR 96 87

Ans 1 a
2 &

v P
4. E]H
Question Type : MCQ
Question ID : 6306801214366
Option 11D : 6306804776683
Option 2 ID : 6306804776682
Option 3 ID : 6306804776684
Option 4 ID : 6306804776685
Status : Not Answered
Chosen Option : --
Q.69 7fg 5 a1l oY 8 TSP Up H I 10 o7 7 % Tehal € TaIh IU B Bl 26 AT 3R 48 TSP 2 A H
TR GHA &, T 15 AGH 3R 20 TSHI B I T8 & P e | fdwa G @i
Ans
s fe
26 |EF|
3. 7 ﬁ_..[
o 4. 4 ﬁ_..[
Question Type : MCQ
Question ID : 6306801213228
Option 1 ID : 6306804772079
Option 2 ID : 6306804772080
Option 3 ID : 6306804772081
Option 4 ID : 6306804772078
Status : Answered
Chosen Option : 4
Q.70 Uw AEAIER CH 5 SR B AT 6500 cm? & 31 3TH HIgg U &1 JET (volume) 2.6 99 HieR 81 dab1 &
Uil &) TER1 1 87
Ans 1. 6m
2.5m
335m
4 4m
Question Type : MCQ
Question ID : 6306801213347
Option 1 ID : 6306804772557
Option 2 ID : 6306804772556
Option 3 ID : 6306804772554
Option 4 ID : 6306804772555
Status : Not Answered

Chosen Option :




waAnnLaoviiochealert
v SN NIIATNT L

VWV VWV VV . A4 LJ LB |
Q.71
CaCl, &1 G P[5 GAHM H1 62
Ans 114 u
2115 u
3 111 u
4. 110 u
Question Type : MCQ
Question ID : 6306801219357
Option 1 ID : 6306804796838
Option 2 ID : 6306804796837
Option 3 ID : 6306804796835
Option 4 ID : 6306804796836
Status : Not Answered
Chosen Option : --
Q.72 P Wl [REPR 2023 H frai Wer 3f&mdl @1 AR Tdg @ 7@ [REPR T g2
Ans 1.3
2.2
3.6
4.5
Question Type : MCQ
Question ID : 6306801134447
Option 1 ID : 6306804457900
Option 2 ID : 6306804457901
Option 3 ID : 6306804457898
Option 4 ID : 6306804457899
Status : Not Answered
Chosen Option : --
Q.73 zHuy T U HUF H 916 | AN 11 HHIET of SRaal 4 TG ¢ | ! B H € TS G TRt &
AT ERT IR U T €1 T8 TSR & YR W FHed &1 g1, & aifde w0 ¥ 69/ sRag/aragal
T TSR0 fST S =18 |
DY
TR g Tad Ry w1 56 3 U § i TR Ui R $0E B U U & oTene ol § wedie At
I g8 TR & a1y Tirerar o Ter &, Res et v sifar iR waieRn & it e el e gl
rﬂ&ﬁ%
(1) Ot Ry 7 Squrc e ufert ux W oA @ ST Ay wiel 99 I Ued wedid ok I e Bl dld o
e 1T fopr ST 1
(1) HOTEHE TRERT B 2UTEHE (FaTE] 1 2(UiE gues I 0y fRRas N &3 =eu)
Ans
v 1| AR G TR0 B ©
2 Al AR A8 11 3FTERU Rl ©
N
3. @ I SHFHIUT B %’
4 Had | HTERUT Bl G
Question Type : MCQ
Question ID : 6306801214384
Option 1 ID : 6306804776757
Option 2 ID : 6306804776756
Option 3 ID : 6306804776755
Option 4 ID : 6306804776754
Status : Answered
Chosen Option : 4




WAWAALG O\vlfi ohcalert in

Q.74 wuil &1 o5 Fua! add T 125% 38 21 4lE I 21 H 6% o] Sl &) oI 8 #fR wud # 25.5% 1 9fg &)
T &, o S o & fba wfied @ gfg St 2

Ans 1 A9
2. 18.5%
3. 8%
4. 20.5%

Question Type : MCQ
Question ID : 6306801213146
Option 1 ID : 6306804771753
Option 2 ID : 6306804771751
Option 3 1D : 6306804771752
Option 4 ID : 6306804771750
Status : Answered
Chosen Option : 1

Q75 fou g THIER0 &1 TEl STH & U S 51 TRersfl ST S § Saar o) 91ge?
(27 + 15) x 2 = (95 = 5) + 25 x 4 — 135 = 62
(S & YUl TRSHT BI A0 H S5 al S F11ey, 7 1o &1 15 SRS & SATRT-Sfel 3! &l )

A1 o5 3R 07
2 53R 15

¥ % 95 3R 135
42 IR 4

Question Type : MCQ
Question ID : 6306801214614
Option 11D : 6306804777676
Option 2 ID : 6306804777677
Option 31D : 6306804777674
Option 4 ID : 6306804777675
Status : Answered
Chosen Option : 2

2024/12/02-20:47:10
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